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Question Number : 1 Question Id : 27028216944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which 1s known as Art and Science of Teaching?
B0 B 8¢, FTREH wohth

Options:

Pedagogy
| @ DEEA

Andragogical
Do|EtEES

Apedagogical
3. ® shoedss
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s

Question Number : 2 Question Id : 27028216945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This describes mtended results of nstruction rather than the process

of mstruction
=6 &Sdar (18 K08 e Hmren D606
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Sympathy to students

- &“\Dﬁéﬁg@é} essoairds

Objectives of Teaching
Hesare ©5°eD
2.¢

Teaching Aids
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Question Number : 3 Question Id : 27028216946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In this stage learners are self motivated and self directed
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Pre-primary
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Question Number : 4 Question Id : 27028216947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
If few students disrupt class the effective way to control this indiseipline 1s by:
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Options :

Talk to parents
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Punish them physically
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Give them a Memo
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Change seats
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Question Number : 5 Question Id : 27028216948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



An elective course chosen generally from an unrelated

discipline/subject in CBCS system
1s termed as:
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Options :

Core course
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Project work
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Question Number : 6 Question Id : 27028216949 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This refers to the degree to which research findings can be applied

to larger population
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Options :

Validity
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Reliability
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Generalizability
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Credibility.
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Question Number : 7 Question Id : 27028216950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In which type of Research it 1s more about moving from “General Population to Particular”
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Options:

Deductive

1 ANEDR

Inductive
2. % ehion



Pure

o
w\tﬁ‘,
ol

Applied
5B
4. %

Question Number : 8 Question Id : 27028216951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following scale is used to assign events or objects into discrete categories
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Options :
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Question Number : 9 Question Id : 27028216952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which phase in Research 1s meant for cleansing data and

improving the quality of data ?
56556 % 55 Serodtn HIFHEDHLH, HHDEIHELS SHEPHHERD

Options:
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Correct Marks : 2 Wrong Marks : 0



Which is a software application which enables a Web to display and interact with text, images.
videos. music and other information types by accessing a web page ?
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Read the passage and answer the Questions from 11 to 15

Have you ever been at sea in a dense fog. when it seemed as if a tangible white darkness
shut you . and the great ship. tense and anxious. groped her way toward the shore
with plummet and sounding line. and you waited with beating heart for something to
happen? I was like that ship before my education began, only I was without compass
or sounding-line, and had no way of knowing how near the harbor was."Light! Give
me light!" was the wordless ery of my soul. and the light of love shone on me in that
very hour.
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Correct Marks : 2 Wrong Marks : 0

The phrase ‘tangible ’ means
‘er0Ran®’ @0 VI V8 e@do

Options :
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Question Number : 12 Question Id : 27028216956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0

The author compares her childhood waith the
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Question Number : 13 Question Id : 27028216957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

The phrase- ‘| was without compass,” means:
B AEFHD) BROT® GO ), ©@F G058 @0

Options :

educated
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directionless
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Correct Marks : 2 Wrong Marks : 0

The synonym for the word ‘harbor’ in the above passage is :
2 (DEGR0S s T SHF0N0: @ DTPAE DT 0NNE0

Options :
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Question Number : 15 Question Id : 27028216959 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

The first three lines of the above passage reflect .
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Sub-Section Number : 4
Sub-Section Id : 2702821245
Question Shuffling Allowed : Yes
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Correct Marks : 2 Wrong Marks : 0

Shaking the hands of a person in a country, where such an act is
disrespectful is a

______barrier.
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Question Number : 17 Question Id : 27028216961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

errors can occur when a wrong word is typed

in an e-mail and theintended message is

misrepresented.
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Question Number : 18 Question Id : 27028216962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

messaging refers to the pitch, flow and tone of the
voice.
D0TH0 @RA D380 AINE) DB, (a0 OO
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Options :
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Correct Marks : 2 Wrong Marks : 0

In the place of work, people respond to ideas that are
presented with

3BT B0, & 290000 eSO (Hasen
1206300 JOAT

Options :

anger
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Question Number : 20 Question Id : 27028216964 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

___listening can help you address conflict or problems within

the team
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Options :
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Correct Marks : 2 Wrong Marks : 0
3 2150 i 8

Options:
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Question Number : 22 Question Id : 27028216966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 23 Question Id : 27028216967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

A worker reaches his workplace 15 minutes late by walking at 4
km/ph from his house. The next day he increases his speed by 2
kmph and reaches m time. The distance from his house to his work

place 1s
2,8 5205068 ¢5c) 2063 D0 K0&%) 4 8.50 Jod IGD 15 Aaren
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Question Number : 24 Question Id : 27028216968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

If the incomes of A and B are i the ratio of 3: 4 and their
expenditures in the ratio of 4 : 5. The ratio of their savings, given
that B saves a third of his mcome are

A 0G50 B 330E) estr0sPen 3: 4 AR & 0G50 0 D JED 4: 5
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Question Number : 25 Question Id : 27028216969 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

If mean and mode of a distribution are 6 and 8 respectively, then

the median 1s
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The questions 26 to 29 are based on the following data.
26 00 29 1294) 00 1808 ST 0450 eSO GOEFON

Four persons of four professions are seated in a row, such that the
Professor 1s to the immediate left of Anup. Mobhit 1s adjacent to the
Doctor. The Busmessman 1s as many places to the left of Priyanka
as Manmohan 1s to the right of Priyanka. One of the persons is a
Lawyer.
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Question Number : 26 Question Id : 27028216971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0

Who 1s the lawyer?
P L0 )adBD?

Options:

Anup
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Mohait
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Manmohan
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Priyanka
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Question Number : 27 Question Id : 27028216972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

Who i1s seated between Priyvanka and Anup?
2205 0% OO @R DG Ded Bt yooe) o7

Options:

Manmohan
3SR

Mohit
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canot be determined
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None of these
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Question Number : 28 Question Id : 27028216973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s true?
Bob srggEned® 26 Jeghde ?

Options :

Mohit 1s not the businessman
g TS fardaed SN

Manmohan 1s the Professor
5 @ NS PTS (DO

Priyanka is a lawyer
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Anup 1s a Doctor
e 350

Question Number : 29 Question Id : 27028216974 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

From the statements below, all the following are true except
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Lawyer 1s not seated to the left of Doctor.
3508 DBeNB YN eroHD 8 3B.

1. %

Professor sits between Doctor and Lawyer.
2350 DO ePAND NGNS 1P N0 Srdy yoor) .

2. ¢
Manmohan 1s to the left of Lawyer and to the immediate right
of Mohit .
N 37D eFANTE DN IN OGN FrarSE OATYS
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Mohit and Doctor are seated adjacent to each other.
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

In a certamn code language. if the word ‘"MENTION’= 49 and
‘NEUROTIC’ = 64 , then

‘MARVELLOUS’ =?
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Options :

81

1. &



88

2_ W
100
3. ¥
121
4, ®
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Note: Answer the questions 31 to 35 based on the data provided below.
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The gross mvestment of Life Insurance Corporation of India in
different sectors 1s given i the following table.

DN B0 B 280 STI0NS &9 20805F T Are DEYd
18060 HEES’ 2% 52800

S.No. | Investment Sector Amount. (crores)

P8 Sotfo o, FL ')

1 | Socially oriented sector ( Plan) 458
s estrded 00 (DT DY)

2 |Socially oriented sector (Non plan) 107
ATSrEE esirheb SO0 (PP PIY)

3 Private sector 183
| 298 Gotio

5 | Central Govt. Securities 454
30185 152065 50 DEF:BESen

6 | State Govt. Sector 110
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7 | Securities Guaranteed by Govt 227
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Correct Marks : 2 Wrong Marks : 0

The percentage of gross investment in state government securities nearly
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Question Number : 32 Question Id : 27028216978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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The magnitude of angle COF i1s nearly
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The investment in private sector 1s nearly  percent higher than
the investment in state government securities.
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The ratio of the area of circle above COF to the area of the circle
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Graphical User Interface
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General Usage of Internet
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Graphic Unitfied Information
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What is the mternet?
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Programming language
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Network connecting computers all over the world
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The program 1s intended for Tertiary Education through partnerships
with State Universities and Colleges to enhance the quality of ICT m

education 1s.....
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E-Governance 1s technology to provide................
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Which of the following was not a Millennium Development Goal?
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Improve maternal health
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Ensure environmental sustainability
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Eradicate extreme poverty and hunger

3 % &0 258%0, D é@c}:ﬁjé}

Ensure healthy lives and promote well-being of all at all ages
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Which of the following types of natural hazards have the highest

potential to

cause damage to humans?
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Earthquakes
1 % ZirEoaren

Forest fires
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Volcanic eruptions
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Droughts and Floods
8B, K
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Carbon dioxide 1s primarily called a greenhouse gas because of ..................
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Traps light
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Solar energy is .......cvveee.
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Non Renewable source
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Conventional source
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The primary agenda of the Kyoto protocol is ...........
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Regulation of hazardous wastes
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Regulate the production of nuclear energy
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The concept of Meta University was adopted by ...............
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Osmania University
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Jawaharlal Nehru University
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Which of the following 1s related to the New Education Policy 20207
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Kasturirangan Commission
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Value Education takes place only at ..........
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Voluntary Youth Organizations
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Which is the nodal agency for United Nations Environment
Programme (UNEP) in India?
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Ministry of Education
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Ministry of External Affairs
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Ministry of Health and Family Welfare
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Ministry of Environment, Forest and Climate Change
‘oﬁuijém‘iwm. wild), arernbo aﬁ:aaﬁag 5}@{@@:\} oy

4.
PHYSICAL EDUCATION
Group Number: 2
Group Id : 270282224
Group Maximum Duration : 120
Group Minimum Duration: 120
Show Attended Group?: No
Edit Attended Group?: No
Break time: 0
Group Marks : 200
Is this Group for Examiner? : No
Examiner permission : Cant View

Show Progress Bar?: No



PHYSICAL EDUCATION

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 51 Question Id : 27028216997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Arrange the sequence of steps during Anaerobic Glycolysis

1. 1.3-BiphosphoGlycerate

2. Phosphoenol Pyruvate
Dihyroxy Acetone Phosphate
4. Fructose-6-Phosphate

LS
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Choose the right option of the following event happens during the accumulation of
Proton ions in the active skeletal muscle tissue

1. Increases Ca ion release

2. Phosphofructokinase enzyme inhibition

b

. Decreases Ca ion and troponin complex binding
. Increases Oxyhaemoglobin formation in lungs

e

Options :

~1.3.4 are true
1. %

~1.2.4 are true
2. %

5« O.4aretrue

4 » only 2 is true
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Match the following events with energy driven sources

..  Fencing 1) Muscle Glycogen and Fatty acids
i..  Weight Lifting 2) Muscle Glycogen and Lactic Acid
iii.  Lacrosse 3)ATP+CP
iv.  3000mts steeplechase 4) ATP only
Options:

1« 1-2,11-4, 1ii-3, 1v-1

o P-4, 1i-3. dii-1, iv-2

o i-2. ii-3. iii-4, iv-1

4w i3, 1i-2, fii-4. iv-1
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Important Biomarker for high altitude training

Options :



. Glucokinase
, » Iriose phosphate isomerase

5 « 2.3-Bisphosphoglyceric acid

. 3-hydroxyacetyCo-A
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The difference between the oxygen required to support a given exercise intensity and
the actual oxygen consumption at the start of exercise is known as the:

Options :

1« Oxygen deficit

~ Lung volume
2. % =

_ lactate threshold
3_ W

, » Iaximum oxygen uptake
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Beta-Oxidation happens in which part of the cell

Options :

Cytoplasm

. INucleus

3 « Mitochondria

Ribosomes
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The closed basket weave toping techniques is used to support which of the following
Options:

1 % Shin

. shoulder



53« Ankle

4 % Knee
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Identify the sequence of regulation of body during hot temperature

Efferent Nerve

Cutaneous Blood vessels

Hot environment

Afferent Nerve

Anterior Hypothalamus

Stimulation of Heat receptors

Vasodilation

Body Temperature maintained by loss of heat

| S T

Tad

Oe = B WO oo

Options:
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Identify the biomarker for Anaerobically Trained Athlete
Options:

, » Malate dehydrogenase

> » Camitine palmityl transferase

3.« Phosphofiuctokinase

4 % Bothl &2
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Increased blood Cortisol signifies

Options :



1 « Exhausting long duration of activity

, » Optimal load of exercise

- Happy hormone

4 % None of the above
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Which of the motor quality diminishes at faster rate if the physical activity is
ceased for more than 4-5 days

Options :

Explosive strength
1.¢

, » Endurance strength

5« Stability

, » Flexibility
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Cori-cori cycle takes place and the process involves
Options :

- Conversion of lactic acid into glucose in skeletal muscle tissue.

. Conversion of lactic acid into glucose in adipose tissue

3« Conversion of lactic acid into glucose mn hepatic tissue

4 % Conversion of lactic acid mto CO2 and H20 m Lungs
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Duchene Muscular dystrophy is a

Options :

1« Genetic disorder targets skeletal muscle tissue

, % Genetic disorder targets neuromuscular junction



3 % Autommmune disorder targets skeletal muscle tissue

Autoimmune disorder targets neuromuscular junction
4. ®
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Spondylosis 1s characterized by —

Options :

1% Spinal instability

, % Hyper mobility

3 v Stiffy Spine

4 = Locking
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Correct Marks : 2 Wrong Marks : 0
What i1s another name for “flat feet’?
Options:

1 = Pescavus

, % Pesequine

5 » Hallux rigidus

4 Pesplanus
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Which type of white blood cell provides immunity by forming antibodies?
Options :

- B-Lymphocytes

, » Monocytes

_— Neutrophils

4 » Basophils
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In the glycolytic pathway. the breakdown of one molecule of glucose to pyruvic acid
results in a net gain of ATP.

Options :

1.% 4
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During Aerobic activity the most of the energy is drawn through which process
Options :

1 = Glucose and aerobic glycolysis



, % Glucose and anaerobic glycolysis

3 % Fats and aerobic glycolysis

4 » Fats and beta oxidation

Question Number : 69 Question Id : 27028217015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the Following 1s Fibrous Joint?
Options :

.. Synchondrosis

1.

5 % Symphysis

- Syndesmosis

4, = None of the Above
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Identify muscle involving in horizontal adduction

Anterior Deltoid
Pectoralis Major
Coracobrachialis
Bicep Brachii
Infraspinatus

h = L ) =

Options :

L}

o BB
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Identify Hip Flexor Muscles

Pectineus
Sartorius

Tensor fascia latae
Gracilis

Sy 2 =

b

Options :

'j'ﬁ
| 1.2.3
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Identify Knee Flexion Muscle

Options :

- Semimembranosus

2« Sartorius



3 Bicep Femoris
Rectus Femoris
4, %

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Rising on Toes 1s which form of Lever

Options :

1% Type-1

4 % None of the above
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Meniscus 1s a

Options :

1 = Drregular Bone

5 o Cartilage

5 » Ligament

4 « lendon
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Abduction and Adduction of Lower limb happens mn which axis and plane

Options :

" Anterio-posterior axis & Coronal plane

, % Sagittal Axis & Transverse Plane

5 » Longitudinal axis & Sagittal Plane



Medio lateral axis & transverse plane
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Kicking football 1s which motor action

Options :

Acyclic

5> % Cyclic form

- Acyclic and Cyclic form

None of the above
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I[dentify Elbow Extensor Muscles

Triceps Brachii
Anconeus
Pronator Teres
Pronator quadratis

s 2 =

.

Options :

L x 1&3

. 1&4

L w3&4
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A bicep curl using a dumbbell is an example of......

Options :

Isometric exercise

> » PNF exercise



5 » Isokinefic exercise

4 Isotonic exercise
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Who invented the method of weight training?
Options :

| = Aristotle

, » Herbert Spencer

3 ¢ Fredrick Yahn

4 » Morgan and Adamson
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The strongest ligament of the hip joint s
Options :

| » Pub Femoral

5> « lliofemoral

3. % Ischiofemoral

4 » None of the Above.
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Shoulder Complex is a combination of which joints

1. Sternoclavicular joint

2. Acromioclavicular joint
3. Scapulothoracic joint

4. Glenohumeral joint
Options :

1% 1&4
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Identify the muscles which causes the rotation of humerus

Supra spinatus
Teres major
Teres minor
Lattismusdorsi

N S T N e

Options :

& 4

fid

S o

, % 1.2&4

2.3&4

1.3&4

Question Number : 83 Question Id : 27028217029 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
choose the correct example for Class-I lever

Options:

P Pivot Joint of skull

, » linge jomt of hand

5 « knee joint of leg

ankle joint of foot
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Endoskeleton involves

Options :

1w Covering of skin, hair, nails

> « Bones and cartilages



5 % Bones only

4% Nomne of the above,
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Movements possible in the condyloid joint are

Options :

- Flexion and extension

, % Circumduction only

5 » Flexion, extension abduction, adduction

4o Flexion. extension. abduction adduction and circumduction

Question Number : 86 Question Id : 27028217032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



If a researcher deliberately accepts the null hypothesis during his research output
but in real sense it 15 false, then the condition leads to

Options :

1 % lype-IError

S v Type-II Ertor

- Type-III Error

4 « Both Type-Tand Type-II
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When the cumulative frequencies are plotted against the end points of their
respective class intervals and joined together. the resultant graph 1s called

Options :

., cumulative frequency polygon

> = Histogram

, » Bardiagram



4 » Pie-diagram
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In the positively skewed distribution find the correct options

Options :

1. % Mean least and mode maximum

, » Mean least and median maximum

3 ¢ Mean 1s maximum and mode least

. Mode least and median maximum
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Non-sampling errors are introduced due to technically faulty
observations or the type of data 1s.

Options:



1« Processing
. Sequencing
.. Collection

.. Analysis
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The mean deviation from the median is
Options:

1 w» Equal to that measured from another value
, % Maximum if all the observations are positive

- Greater than that measured from any other value

4« Less than that measured from any value
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The sum of deviations of values from their mean is always

Options :

1.«'-«*"0

2.%‘-‘l

)

Td
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If the class the weight distribution of a group of research scholars are: 160, 120,
70. 110, 140, 130. 160, 150 . 100 pounds, then find the standard deviation of the
class (approx.):

Options:

1 % 21
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If a researcher deliberately chooses sample for his research work 1n order to
show the effectiveness of the study the type of sampling technique is

Options :

1 = Stratified sampling

> % Multistage sampling

3 % Cluster sampling

» Haphazard sampling
4. 3 i
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Choose the correct test for the sample containing 35 subjects to which the researcher
has given training method drawing pre and post data

Options :

1 = Paired t-test

, % Un-paired t-test

3 o Z-test

4 % F-test
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If two groups are given the same training method find out the correct option where
in the groups are very weakly correlated (R?)

Options :
1. F -].0

, % 0.5

. v 001



4. % +1.0
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Which of the following is method of testing the significance of the correlation
coefficient samples?

Options :

1 = F-test

> % I-test

. Z-Test

4. Chi-square test
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Cumulative frequency polygon is also called



Options :
| » Histogram

> = Abscissa

3 » Ogive

Sigma
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Options :

_— To find out the difference between means of the groups

To find out the effectiveness of the Test

2. %

5 « Toequate the groups

4 « Torecheck the test conducted
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The concept of Standard Deviation was introduced by
Options :

1. % Fisher

5 % Spearmarn

3. % (Gauss

4 Karl Pearson
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In the set 2. 4. 5. 4. 6. 5. 3. 4. 2. the mode 1s

Options :

-
1, * &%

2« 4
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Improvement in motor performance 1s called as
Options :

- Self-acquisition

, , Group acquisition

5« Skill acquisition

4 » double acquisition
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Choose the correct matching

Options :

1) Aggression- fear

2) Anxiety — anger

3) motivation- positive emotion.
4) Arousal- negative emotion

1) Aggression- anger
2) Anxiety — fear
3) motivation- positive emotion

5 @ 4) Arousal- positive emotion

1) Frustration-negative emotion
2) Depression-negative emotion
3) motivation- coaxing

4) Activation I- negative emotion

1) Psychology-behavior

2) Anxiety- pleasant feeling

3) motivation-unpleasant feeling
4) Hostility - negative emotion
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Options :

1) ID- consciousness

2) Super ego- Unconsciousness

3) Ego-subconscousness

4) Personality-Sum total of Behavior

1) ID theory - Descartes

2) Super egoTheory- Segmund Freud
3) Ego Theory- Sheldon

4) Consciousness theory —Allport

1) Behavior-Wordsworth

2) mesomarph- Krechmar classification
3) Dysplastic - Kretchmar classification
4) Ectomarph classification- Spanger

1) ID- unconsciousness

2) Super ego- sub consciousness

3) Ego-consciousness

4) Science of consciousness- Psychology
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Choose the correct matching

Options :



1) Awards- intrinsic motivation

2) Honor board - mftrinsic motivation
3) Prize money - intrinsic motivation
4) Cash Awards- extrinsic motivation

1) Activation- Drive Theory

2) Motivation-process of goading

3) Achievement motivation- pleasant feeling
4) Self inspiration — intrinsic motivation

1 Arousal - Drive Theory
2) Motivation- unpleasant feeling
3) Achievement motivation- un pleasant feeling

3 % 4) motivation-motive

1 Awards- extrinsic motivation
2) Honor board extrinsic motivation
3) Prize money - intrinsic motivation

4) Cash Awards- extrinsic motivation
4. %
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Choose the correct matching

Options :

1. &



1) Boxing-Indirect Aggression

2) Foot ball - Direct Aggression

3) Volley ball -Indirect Aggression
4) Basket ball — limited Aggression

1) Skating - Little Aggression
2) Rugby - Direct Aggression
3) Volley ball -Indirect Aggression

, » 4 Basket ball — limited Aggression

1) KhoKho -Indirect Aggression
2) Foot ball - Direct Aggression
3) Kabaddi -Indirect Aggression

4) Basket ball — limited Aggression
3. %

1) Wrestling-Indirect Aggression
2) Judo - Direct Aggression
3) Volley ball --direct Aggression

; 4) Gymnastics — little Aggression
4,
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The mental action or process of acquiring knowledge and understating through

thought, experience and the senses 1s known as

Options :



| w Sensible

5 % Steadiness

3 v Cognition

4 w Infuition
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Choose the correct matching

1. Endomorphic-somatotonic

2. Ectomorphic- cerebrotonic

3. mesomorphic-viscerotonic

4. Muscular type-somatotonic
Options:

1 = 1 &2 correct

, « 2& 3 correct

3 % 1 &4 correct



4 v 2 & 4 correct
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Choose the correct matching from the following

1. Rolly& Polly —Aesthetic body type

2. Introvert &Quiet —PiKnic body type

3. Firm & Medium-Athletic body type

4. Shy lean & thin Aethetic body type
Options :

1 » 1 &2 correct

> % 2 & 3 correct

1 & 4 correct

3& 4 correct
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Sports performance Anxiety is also called as

Options :

| » Competitive Anxiety

5 % Social anxiety

3w Lrait anxiety

State anxiety
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Initiation of response to a given stimulus 1s known as

Options :

1 » Response time

> = Movement time

Reaction time
3.



« Reflex time
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Response to perceived danger is known as

Options :

1« Anxiety

, « Arousal

5 Activation

4 = Aggression
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Choose the correct matching

1. Anxiety is Arousal said by Skubic
2. Anxiety 1s neuroticism said by Ekegami
3. Anxiety is emotional Reactivity said by Hardman
4. Anxiety is nervousness said by Ekegami
Options :
1 v 1.3 &4 correct

> = 1.2 &4 correct

1 & 4 correct

4 % 3& 4 correct
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Behavior in which there 1s an intention to injure others is known as

Options :

1 = Arousal

5 % Anxiety

5 % Arousal



4« Aggression
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Choose the correct option
Options :

- Anxiety is a pleasant feeling

- Aggression is a pleasant feeling

3 % Arousal is a negative emotion

4. Acftivation 1s a positive emotion
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The first Research study n sports psychology in the year 1898 was attempted by

Options :



- Segmundfrued

, % Robert Smger
3 » Allport

4« Norman Triplett.
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first international conference on sports psychology was held at

Options :

1 » Berlin- Germany

, % Amsterdam — Netherlands
., Rome —Italy

3.

. Sydney —Australia
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PETTLEP sports imagery theory is associated with

Options :

1 » Kabaddi

> % Volleyball

3 ¢ Football

4 % Cricket
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The theory of Cognitive development was given by

Options:

Jean Piaget
v g

, % John Dewey



5 » Alfred Binet

4. » Thorndike
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Classical conditioning was demonstrated by IVAN PAVLOV 1n the year

Options :

L % 1921

, % 1924

5 % 1929

1897
4. &
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In Plateau Period the learning curve has become

Options :

1 » Oval
, « Straight
3 @ Flat

4 « Vertical
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What 1s the main difference between walking and running in terms of energy transfer?

Options :

Walking transfers energy primarily through elastic storage and release, while
1« Tunning primarily through muscular contractions

Running transfers energy primarily through elastic storage and release. while
- walking primarily through muscular contractions

Both walking and running primarily transfer energy through muscular
3 = confractions



Both walking and running primarily transfer energy through elastic storage and
release
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What type of muscle fibers are primarily utilized in jumping activities?

Options :

| « Slow twitch muscle fibers

5 Fast twitch muscle fibers

5 » Both slow twitch and fast twitch muscle fibers are utilized equally

4 % None of the above
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What 1s the most important factor affecting the distance of a thrown object?

Options:



.. The angle of release
.. The velocity of release
3. % The mass of the object

" All the above
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What 1s the role of the windup in the throwing process?

Options :

1 « To generate force and velocity

, % Lo help maintain balance and stability

To deceive the opponent
3. #

4 » All of the above
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What 1s the primary muscle group used in walking?
Note: For this question, discrepancy is found in
qguestion/answer. Full Marks is being awarded to

all candidates.
Options :

;. Quadriceps
, Hamstrings
3. Gluteus Maximus

4 Gastrocnemius
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Relationship linear and angular velocity is expressed:

Options :



1. ¢ V=IW

> % I=VW

3. % V=WIT

4 & W=I/V
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Angular Momentum is
Options:

1 x M=mv

H=Iw

2. ¥

3 % [=mv

4« M=Tv
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Issac Newton. the creator of the laws of motion. was
Options :

| » American mechanist

, Norwegian mathematician

3 British physicist

4 » German civil engineer
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To what property of a body 1s its stability directly proportional?

Options :

1 = Size

5 Weight



5 % Dimension

4 = Centre of gravity

Question Number : 130 Question Id : 27028217076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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A sprinter crouches down in the starting block, keeping his centre of gravity as high
as possible so that he can

Options :

| » move forward with greatest stability

., accelerate hus velocity quickly

5 o Start quickly in one direction

avoid beating the gun
4. ®
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Match the following
I. Activation
II. Motivation
III. Achievement motivation
IV. Self inspiration

Options:

. 1-4, 1I-1. II1-2. TV-3
1. %

, % 2,111, I-3, IV4

3 % [-2,1-1, 101-4, V-3

[-3. II-1. ITI-4., TV-2
4. &

Question Number : 132 Question Id

1. process of goading
2. pleasant feeling

3. Drive Theory

4. intrinsic motivation
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Match the following
I ID
II.  Superego

interval to replay(In Seconds) : 0 Allow Volume Control :

. sub consciousness
2. UNCONSCIOUSNESS

—

. Ego 3. Psychology
IV. Science of consciousness 4. Consciousness
Options :

| » 4 I-1,11-2. IV-3



, » 1-2,1I-1, III-3,IV4

3 v -2, 1I-1, ITI-4, IV-3

4. % I-3. II-1. ITI-4. IV-2
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The Waldorf education approach emphasizes a balanced development of

I.  head
II. heart
III.  hands

Options :
o [&TI
> % [&II

L x D&M

4 v LII&II
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According to Jean Piaget, children develop abstract logic and reasoning skill during

Options :

| % Sensorimotor stage

, « Preoperational stage

3 « Formal operational stage

4, = ‘Concrete operational stage

Question Number : 135 Question Id : 27028217081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Which of the following is not the tool for Formative Assessment i scholastic domain?

Options :

Conversation Skill

1. %

- Multiple Choice Question



3 ¥ Projects

4 Oral Questions
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If a child has mental age of 5 years and chronological age of 4 years than
what will be the IQ of child?

Options:
nE
1.« 125

5 = 80

L w120

4 100
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Correct Marks : 2 Wrong Marks : 0

Who is known as the father of the playground movement in America ?
Options :

1 « Joseph Lee

, % | B Basedow

- Joseph Lee and J B Basedow

E.T Gustav
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The origin of Yoga dates to

Options :

1 « Vedic Period
, » Rajput Period

3 % Nalanda Period

4 = None of these
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Which of the following philosophy of physical education 1s also known as Experimentation?

Options:

1 = Existentialism

, » Realism

3  Pragmatism

4 » Eclecticism
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Match the following

[ Isokinetic method 1. GostaHolmer
1. Fartlek method 2. J JParrine
ITI. Interval method 3. Fredrick Yahn
Iv. Weight training 4. Dr.-WoldermanGershler

Options :

1 o 122, 11-1, TI1-4, TV-3
> % -4 II-1. ITI-2. IV-3
3 % 1-2,1I-1, 1II-3. IV-4

[-3.II-1. ITI-4. TV-2

Question Number : 141 Question Id : 27028217087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Continuous method of training

1. Increase in muscle glycogen

1i. Decrease in capillarisation
i11. Increase in quantity ofoxidative enzymes
iv. Increase in number and sizeof mitochondria
v. Decrease inmuscle strength

Options :



1 % 110,101, 1V

5 @ L1L,1V,V

3 L. 1L IV ¥

4w 1L il iV

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Proper warm-up benefits to the sports person

1. Improves RFD

i1.  Increases viscus resistance in muscles & Joints
1. Improves oxygen delivery to muscles
iv.  Enhances metabolic reactions

v. Decreases psychological preparedness
vi. Improves muscle contraction and relaxation

Options:

1. % 11,111, 1v, v, Vi

5 x L 1i,1il, iv, vi



L o L V.V

4. 1, 111,1V. V1
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What are the components which are helpful in maintaining balance in the human system?
1. Proprioceptive system
it.  Vestibular

i, Visual
iv.  Spmal cord

Options :

1. ® I&IU
L s 1l & i
11, 111 & 1v

3. %

4 1.11.111
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Anti-xerophthalmic vitamin 1s

Options :

1@ Vitamin A

5 % Vitamm B

3 % Vitamin C

Vitamin E
4, %
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Rickets disease caused by the deficiency of

Options :

1 % Vitamin A

5> % Vitamin C



3 v Vitamin D

4 % Vitamin E
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Achondroplasia is a

Options :

| » Genetic disease causes gigantism

, » Genetic disease causes dwarfism

3 » Non genetic disease causes gigantis

n Non genetic disease causes dwarfism
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Graves Disease causes

Options :

1.« Over secretion of T3 & T4

, Hepatic over secretion of bile juice

3 = Over secretion of Pituitary gland

4« None of the above

Question Number : 148 Question Id : 27028217094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the Following 1s Fibrous Joint?

I  Synchondrosis
II  Symphysis
III  Syndesmosis
IV Gomphosis

Options :

o L

LIV



3« LILIV

4« LILIV
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Which glands in the body which secretes both hormones and enzymes

I. Liver
II. Pituitary Gland

III. Thyroid Gland
IV. Pancreas

Options :

1 % LILII& IV

, » 1L Only

5« IV Only

L LILIV
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What is a chi-square test used for in hypothesis testing?

Options :

- To compare the means of two independent groups

- To compare the means of two dependent groups

5 » Lo compare the proportions of two independent groups

To compare the distribution of categorical data in a contingency table to the

4 expected distribution



